Self-Assessment for Grade 9 Essentials Math (MAT1L)

Students who are registered for Grade 9 Essentials Math (MAT1L) may benefit from a self evaluation and review of the following expectations from

elementary school math.

The questions in this self-assessment reflect some of the key ideas learned in prerequisite courses. They do not represent the problem solving
approach or the rich experience that students would be exposed to in a classroom. The intention is for students to revisit some key concepts and, if
needed, access review materials in an informal environment at a pace that is comfortable for the student.
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https://www.youtube.com/watch?v=EX9CdUAMpgE
https://www.youtube.com/watch?v=RmHmtLQ-pqU
https://www.youtube.com/watch?v=zRjLZROI7wc
https://www.youtube.com/watch?v=ory05j2jgBM
https://www.youtube.com/watch?v=1xuf6ZKF1_I
https://www.youtube.com/watch?v=1xuf6ZKF1_I
https://www.youtube.com/watch?v=eLRMI2ZX5Qw
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https://www.youtube.com/watch?v=Lvr2YsxG10o
https://www.youtube.com/watch?v=fmGq4WwIan0
https://www.youtube.com/watch?v=fmGq4WwIan0
https://www.youtube.com/watch?v=6NBkb98nFOM
https://www.youtube.com/watch?v=6NBkb98nFOM
https://www.youtube.com/watch?v=STyoP3rCmb0
https://www.youtube.com/watch?v=STyoP3rCmb0
https://www.youtube.com/watch?v=Z_NHrwK6ALE
https://www.youtube.com/watch?v=Z_NHrwK6ALE

| can represent ratios

6. A coin was flipped 20 times. Heads came up 8 times.
What is the ratio of number of heads to number of tails?
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https://www.youtube.com/watch?v=HpdMJaKaXXc
https://www.youtube.com/watch?v=HpdMJaKaXXc
https://www.youtube.com/watch?v=Zm0KaIw-35k
https://www.youtube.com/watch?v=Zm0KaIw-35k
https://www.youtube.com/watch?v=Zm0KaIw-35k
https://www.youtube.com/watch?v=I3kQJvR7ZIg

Solutions to sample questions

1. Write the following numbers in order from least to greatest:

a. 30 004 02 195 0.15

One way to sort these numbers is to start by writing them all with two digits after the decimal place.
30.00 0.04 0.20 195 0.15

Then we look at the place values to help us sort.

0.04 0.15 0.20 1.95 30.00

So the original list sorted is

0.04 015 0.2 195 30

b. 0.8 0.08 8.08 8

One way to sort these numbers is to start by writing them all with two digits after the decimal place.
0.80 0.08 8.08 8.00

Then we look at the place values to help us sort.

0.08 0.80 8.00 8.08

So the original list sorted is

0.08 08 8 8.08



8 1 9

1
2— is the same as 2+ — which is the same as —+ — or —

One way to sort this list is to write all of the fractions with the same denominator. Note that 4 4 4 4 4
5 3 6 10
4 4 4
We can now sort this list
3 5 6 10
4 4 4

So the original list in sorted order is

2.1n 2019, there were 41, 205 secondary students in York Region District School Board. Write out this number in words.

There were forty one thousand two hundred and five secondary students in YRDSB.

3. A student is walking from home to school. If the student gets to the park, what percent of the distance has the student covered?

Home Park School
1 1T T 1]

3
Since the student has walked 3 of the 4 parts and we know that 4 is 75%, the student has covered 75% of the distance.

4. How many seconds are there in a day?

There are 60 seconds in 1 minute and 60 minutes in an hour. There are 24 hours in a day. So the number of seconds in a day is 60x 60x 24=_86 400
seconds in a day.



5. Evaluate:
a) 9.43+2.6
9.434+2.6=9.43+2.60=12.03

a) 3x0.2
3% 0.2=0.6
b) 6.5+5
6.5+ 5=65+50
65 13
50 10
13
— =13
10

6. A coin was flipped 20 times. Heads came up 8 times. What is the ratio of number of heads to number of tails?

If there were 8 heads, then there were 12 tails. The ratio is 8:12 or 2:3.

7. Four markers cost $5.16. How much does one marker cost?

5.16+-4=1.29. Each marker costs $1.29

8. Arug is 2.5 metres wide. How many centimetres wide is it?

1 metre is 100 centimetres so 2 meters is 200 centimetres. Half a metre is 50 centimetres. So 2.5 metres is 250 centimetres.



